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BN BERY IR JE\ ] Kl FHHE  KE oy PO,P  NH,~N  NO,-N  NO,~N 7 3wlvitis K
() (m) & 77 Ea (m) (C) (ng/L) (pg/L) (pg/L) (ug/L) (cc/m”)

St.1 10:29 0 S IS 3.5 14.0 31.66 4.5 4.8 1.5 4. 4 28.3 7=V V5

w1 1 2 6 13.5  31.94 3.0 6.2 1.4 8.3

2.5 12.5  32.68 3.0 7.5 1.0 8.5

5 11.6  33.36 2.4 4.5 1.3 6.8

(9m) B-1 10.9  33.56 6.3 7.2 1.1 14. 9
St.2 10:19 0 S = 4.5 14.0  30.19 5.2 3.5 1.2 32.8 32.7 71—V vd

¥4 if 1 2 8 13.3  31.57 2.4 2.5 1.1 32.9

2.5 12.6  32.90 3.5 2.1 1.1 1.7

5 11.6  33.45 2.1 5.0 0.9 98. 6

(15m) B-1 10.7  33.66 4.7 4.2 1.2 4.1
St.3 10:55 0 S 5 5.0 14.4  30.23 3.6 7.0 1.8 20.9 17.7 7F=V 5

= 1 1 5 13.6  32.37 1.3 4.2 1.4 10. 1

2.5 12.7  33.07 1.3 4.8 1.3 38. 2

5 11.7  33.49 1.0 2.4 1.0 1.0

10 11.1  33.61 1.6 6. 2 1.7 140.9

(15m) B-1 10.6  33.55 3.8 10. 1 1.5 125.6
St.4 11:13 0 S IS 6.0 14.6  30.95 2.6 5.8 1.2 4.8 8.8 7=V

BDOIR 1 1 6 13.4  32.53 1.2 5.5 0.7 0.9

2.5 12.3  33.30 1.8 5.1 0.9 3.3

5 12.1  33.52 2.5 6.6 0.9 1.5

(11m) B-1 11.1  33.57 6.9 18. 4 0.8 5.3
St.5 11:24 0 S = 6.0 15.4  31.73 1.4 9.5 1.4 52. 8 12. 4 7=V V4

TR 1 1 8 15.0  31.97 2.0 8.6 1.0 3.0

2.5 12.5  33.40 1.3 6.6 0.8 0.7

5 11.7  33.53 1.0 7.6 1.1 3.2

(9m) B-1 11.1  33.65 1.8 7.1 1.2 1.0
St.6 8:58 0 S = 6.5 14.1 31.85 2.6 8.1 0.8 7.5 16. 8 7=V v4

S IR 1 1 8 12.0  33.55 2.6 9.0 1.6 10. 3

2.5 11.8  33.58 2.5 7.5 0.9 7.4

5 11.5  33.66 1.8 7.5 1.0 2.0

10 11.4  33.68 1.2 10. 4 1.0 1.6

(24m) B-1 10.9  33.66 2.1 9. 4 0.8 0.8
St.7 10:01 0 S = 7.0 13.9 31.13 3.4 9.7 1.4 24.8 14. 1 71—V vd

H ) 2 1 2 8 13.3  32.69 2.9 8.0 0.8 3.7

2.5 12.1  33.32 2.5 6.9 1.1 1.8

5 11.6  33.53 1.7 9.0 1.3 2.7

10 11.2  33.59 0.8 5.9 1.1 2.1

(32m) B-1 9.9  33.65 12. 3 31.3 1.9 15. 7




